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b>0 B) ab<0 (C)a<0:b<0 (D)a=0b=0

7. Which of the following is the greatest number ?
(A) cossinl (B) cossin2 (C) sincosl (D) sincos?2

8. What is the sum of all possible values of t between 0 and 360 such that the triangle in the
coordinate plane whose vertices are (cos 50°, sin 50°), (cos 70°,sin 70°),and (cost®,sint°®) is
the isosceles?

(A)300 (B)330 (C)390 (D)420
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9. K5¥=2+3 » f —— o LTI RER Y

(A)5 (B)3v3 (C)2/6 (D) 2v3

10. Let % + % + é = 100 and x, y, z> 0. What is the minimum value of Zlogx + 3logy + logz ?

(A)12  (B)6 (C) —6 (D) —12

11. At a gathering of 20 people, there are 15 people who all know each other and 5 people who know
no one. People who know each other hug, and people who do not know each other shake hands.
How many handshakes will occur?

(A)75 (B)85 (C)90 (D) 100

12. @ sef(n) &~ Bnehz = 358 > ¥ £(2018) =1 £(2020) =4 £(2022) =9 -
f(2024) = 17 » 3 ££(2026) i ?
(A)27 (B)29 (C)31 (D)33
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14. © frw #2) ABCD n? 2 f1 i3 2+ * AB=BC =23 - AD+CD=+6+2 » &
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(A) V6++2 (B) 15 (C) VB5++/3 (D) 4

Suppose that A ABC is an equilateral triangle of side length s, with the property that there is a

15.
unique point P inside the triangle such that AP = 3, BP = 3v/3, CP = 6. What is the value

of s?

(A) 3(1++v2) (B) 3W7 (C) 8 (D) 6V13
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(A)5 B)6  (C)7 (D) 8
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A)0<m<4
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